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Instructions for Candidates 

1. Attempt any four questions. 

2. All questions carry equal marks. 

3. Answers may be written either in English or Hindi; but the same medium should be 

used throughout the paper. 

 

1. a) How the budget setting process and corruption are the source of the excessive 

public sector expenditure? Explain  

b) Using theory of clubs, explain the conditions for the efficiency in the provision of 

goods such as sports club or social clubs. 

 

1. (अ) बजट निर्धारण प्रनियध और भ्रष्टधचधर सधर्ाजनिक के्षत्र के अत्यनर्क व्यय कध स्रोत कैसे हैं? 

समझधइये  

(ब) क्लबोों के नसद्धोंत कध उपयोग करते हुए, स्पोटटास क्लब यध सोशल क्लब जैसे सधमधिोों के 

प्रधर्र्धि में दक्षतध के नलए शतों की व्यधख्यध करें । 

 

2. a) Should all goods have the same tax rate or should the taxes be related to the 

characteristics of the good? Explain your answer using the Inverse Elasticity Rule.  

 

b)Describe the incidence of a government subsidy on wheat on the consumers and the 

producers of wheat both in the long run and short run. 

2. (अ) क्यध सभी र्सु्तओों पर कर की दर समधि होिी चधनहए यध करोों को र्सु्त की नर्शेषतधओों से 

सोंबोंनर्त होिध चधनहए? प्रनतलोम प्रत्यधस्थतध नियम की सहधयतध से अपिे उत्तर की व्यधख्यध कीनजए। 

 

(ब) उपभोक्तधओों और गेहों के उत्पधदकोों पर लोंबे समय और अल्पधर्नर् दोिोों में गेहों पर सरकधरी 

सब्सिडी की घटिधओों कध र्णाि करें । 

 

3. a) The demand and supply for soft drinks are given by Q = 20 – P and Q = 3P, 

respectively. 

i) Solve for the equilibrium price and quantity. Suppose now the government 

imposes a per-unit tax of $4 on the sellers.  

ii) Solve for the new quantity, net price sellers received, and price consumers 

paid.  

iii)  Calculate the government revenue from the taxation.  

iv) Calculate the deadweight loss resulting from the taxation  

v) What fraction of the economic incidence of the tax is borne by consumers? 

b) Explain how decrease in fine rate and decrease in tax rate would affect the amount 

of tax evasion. 

3. (अ) शीतल पेय की मधोंग और आपूनता िमशः Q = 20 - P और Q = 3P द्वधरध दी गई है। 



i)  मधि लीनजए नक अब सरकधर नर्िेतधओों पर प्रनत इकधई कर $4 लगधती है, सोंतुलि कीमत और 

मधत्रध ज्ञधत कीनजये। 

ii) िई मधत्रध, प्रधप्त शुद् मूल्य नर्िेतधओों और उपभोक्तधओों द्वधरध भुगतधि की गई कीमत निकधनलये 

। 

iii) करधर्धि से सरकधरी रधजस्व की गणिध करें । 

iv) करधर्धि से होिे र्धले डेडरे्ट लॉस की गणिध करें  |  

v) कर के आनथाक भधर कध नकतिध अोंश उपभोक्तधओों द्वधरध र्हि नकयध जधतध है? 

(ब) स्पष्ट करें  नक जुमधािध दर में कमी और कर की दर में कमी कर चोरी की रधनश को कैसे प्रभधनर्त 

करेगी। 

 

4. a) What is the Pigouvian Tax? What is the solution proposed by Pigouvian 

Taxationfor the externality problem? Explain with help of two goods and 

twoconsumers example.What is the practical difficulty involved in 

implementingPigouvian taxation? 

 

b) Consider an economy with two consumers, A and B. There is public good in this 

economy . A’s demand for public good  is given by P = 10 - Q, and B’s demand for 

public good is P = 8 - 2Q. Marginal cost for providing the public good in the markets 

is constant, MC = 9. 

i) Derive market demand curve for public good by showing three graphs :first graph 

for A’s demand, second graph for B’s demand, and the third graph for market 

demand. 

ii)Write the expression for the market demand curve 

iii) How many units of public good will be provided in the market? 

4. (अ) नपगौनर्यि कर क्यध है? बधहरी समस्यध के नलए नपगौनर्यि करधर्धि द्वधरध प्रस्तधनर्त समधर्धि 

क्यध है? दो र्सु्तओों और दो उपभोक्तधओों की सहधयतध से उदधहरण देकर समझधइए। नपगौनर्यि 

करधर्धि को लधगू करिे में व्यधर्हधररक कनििधई क्यध है? 

 

(ब) दो उपभोक्तधओों, A और B के सधथ एक अथाव्यर्स्थध पर नर्चधर करें । इस अथाव्यर्स्थध में 

सधर्ाजनिक र्सु्त है। सधर्ाजनिक र्सु्त के नलए A की मधोंग P = 10 - Q द्वधरध दी गई है, और 

सधर्ाजनिक र्सु्त के नलए B की मधोंग P = 8 - 2Q है। बधजधर में सधर्ाजधनिक र्सु्तएँ उपलब्ध करधिे 

की सीमधोंत लधगत MC = 9 ब्सस्थर होती है, . 

i) तीि ग्रधफ नदखधकर सधर्ाजनिक र्सु्त के नलए बधजधर मधोंग र्ि वु्यत्पन्न करें : पहलध ग्रधफ A की 

मधोंग के नलए, दूसरध ग्रधफ B की मधोंग के नलए और तीसरध ग्रधफ बधजधर मधोंग के नलए। 

ii)बधजधर मधोंग र्ि के नलए व्योंजक बतधइये |  

iii) बधजधर में सधर्ाजनिक र्सु्तओों की नकतिी इकधइयधँ उपलब्ध करधई जधएँगी? 

 

5. a) What is C-efficiency? Briefly explain the impact of GST under the following 

heads: 

i) Cost Savings and Productivity gains 

ii) Impact on Revenue 

b) Elaborate on the challenges faced by GST in India in context of multiple and high 

rates of taxes. 

5. (अ) सी-दक्षतध क्यध है? निम्ननलब्सखत मदोों के अोंतगात जीएसटी के प्रभधर् को सोंके्षप में समझधइए: 

i) लधगत बचत और उत्पधदकतध लधभ |  

ii) रधजस्व पर प्रभधर् |  



(ब) करोों की बहु और उच्च दरोों के सोंदभा में भधरत में जीएसटी के सधमिे आिे र्धली चुिौनतयोों पर 

नर्स्तधर से बतधएों । 

 

6. a) What are quasi-public goods? Why do we need government intervention to 

providefor quasi-public goods? Explain with the help of appropriate example and 

diagram. 

b)What is tax incidence? The amount by which price rises for the consumers depends 

on the shape of demand and supply curve, not on whom the tax is levied. Do you 

agree? Explain why. 

 6. (अ) अर्ा-सधर्ाजनिक र्सु्त क्यध हैं? अर्ा-सधर्ाजनिक सधमधि उपलब्ध करधिे के नलए हमें सरकधरी 

हस्तके्षप की आर्श्यकतध क्योों है? उपयुक्त उदधहरण एर्ों रेखधनचत्र की सहधयतध से स्पष्ट कीनजए। 

(ब)कर घटिध क्यध है? र्ह रधनश नजससे उपभोक्तधओों के नलए कीमत बढ़ती है, मधोंग और आपूनता र्ि 

के आकधर पर निभार करती है, ि नक नकस पर कर लगधयध जधतध है। क्यध आप सहमत हैं? समझधइये 

क्योों। 


